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Algorithm GM2- DESCAN

Input: D, Minpts, Eps

Output: Set of clusters
begin

create grid \'n + \n
for (each) unvisited point p in the datazet 1) do
Put point p in grid
el = znid clustring (grid)
grid = we shift the grid
¢¥ = gnd clustring (zrid)
cluster nom cl, cluster num 2 = cluster num in cl, cluster nom in 22
create compare gresult = matrix (cluster num_cl, cluster num e2)
for each point in D
compare result{cl(point), c2{point)) +=1
end for
for each column in compare result
rows = find which rows that have at least Minpts in compare result {row, column)
combine thiz rows together in cl
end for

return ¢l
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Funection grid_clustring (grid)
for each cell in grid with maximum point

rezult = do DESCAN (points, Eps, Minpts) clustering for cells point
end for
max_point = point number in cell with maximum points
point_rang = max point’'s
while <=3
Eps=Epz - 0.1%Eps
for each vavisited cell with sum points in rang (max_peoint - point_rang, max_point — point_rang)
result += do DESCAN (peints, Eps, Minpts) clestering for cells point
end for
i+=1
end while

return rezult
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